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Solving Easy Trigconometric Equations — With a Calculator

Solve for 8. You may use your calculator.
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- Solving each equation for 0 < 0 < 360° (DEGREES)
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Solving each equation for 0 < @ < 2w (RADIANS)

1) 2sin@ —v3 =0 2) 2cos8+1=0
s06=56 (056 =""o
= N
@:S\m"\(ﬁ/z\ G = Cos \( g 2’3
NA N LAY Qo ‘ Q3 T
A o= Qre=3 6=2r ©=3
3) tanf+1=0 4) 2sinf —v2 =0
Fan® = -1 T se6- G
o S b = 5m ()
' : oAl
&="9 Q=1 O\ 1 G2~ _ar
! O3 S =



o \ﬁtﬁ@d{ © \
olving Trigonometric Equations

A

J /
o é Q/’Alv,fﬂ

0

hame

Solving each equation for 0 < 6 < 360°

1) 3tanf = 3V3

.—t“"(mf\ g = \)f:% SE ‘-\C“;\(Eé) |

[@o“‘ andk aL\o‘”j

((a\(u\oc\vf\
O=—l6.3,3) 24tanf +7 =0

B = den (Tan)
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S /\@w'% ®~~5~\ ({:)

4) 18cos — 10 = 0
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Solving each equationfor 0 < 6 < 2w
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